4&-1

R KB =B EE LY A R

25 LRIES AR " #8 1 8& H %

ARAAWT TOL TR (x
¥ 35 A
)

Aw4Ee 2 H

1. For the structure shown below, please specify in dketa'il why it is in a situation of internal
geometric instability( P34 847 < 48 & ). Please explain the reason, with the help of necessary
sketches.(13%) P

2. A structure is composed of horizontal meﬁber ab and vertical member c¢d as shown in the
sketch. Please find the internal axial force of member cd by using the method of the least work
under the cases including that: (i) only the flexural deformation of member ab is taken into
account. (20%) (ii) both the flexural and shear deformations Qf member qb are taken into

consideration. (10%)
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3. A rigid-joint frame is subjected to the moment M acting at point C as indicated in the figure.

Please find the reaction M, by using slope-deflection method. (25%)
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¥ Given :
L=10ft
M = 200 kips-ft

4. In undertaking the direct stiffuess method (a formulation scheme in matrix displacement

analysis), the system shown below is modeled by using the degrees of freedom Ux and Us.
Please find the reaction My. (32%)
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% Given :
L=20ft
w = 3.0 kips/ft
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